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CATEGORY 1  -   ROUND 1  -  SOLUTIONS  

1 Samuel Isengger, Basler Nachrichten 1934 

 

 

1...R~ 2.Qb7# 1...Rxf5 + 2.Qxf5# 1...Bc~ 2.Rc7#  

1.Qc4 ! zz (5 points) 

1...R~ 2.Bg8# 1...Rxf5 + 2.Bxf5# 1...Bc~ 2.Qc7#  

1...fxg3 2.Qh4# 1...e1=~ 2.Rh2# 1...S~ 2.Rh1# 1...Ba~ 2.Ra7# 

  
 

 

 #2                       (10 + 9)  

2 William A. WHYATT (V. Paz Einat), 1st HM Probleemblad 1964 

 

 

1.Sh5 ! [2.Bh3 (1 point) ~ 3.Qg7# 2...Sg3 3.Qxg3# 2...e3 3.Re7#]  

1...Rc3 2.Sdf6 (1 point) [3.Re7#] 2...Be3 3.Qxe4#  

1...Re3 2.Sxb6 (1 point) [3.Re7#] 2...Bc3 3.Sc4#  

1...Bc3 2.Qxf2 (1 point) [3.Qf6#] 2...e3 3.Qf4#  

1...Be3 2.Re7+ (1 point) Kd4 3.Qxe4# 2...Kxd5 3.Qxe4# 

 

 
#3                      (7 + 14)  

3 Aloïs Johandl, 1st Prize Mémorial C. Schrader, Die Schwalbe 1964 
 

 

 

1.Sf8 ! (2 points) [2.Sd7#] 1...Kxf6 2.Sh7 + Ke5 3.exd3 (1 point) [4.d4#]  

3...a1=Q 4.Sd7 + Kd5 5.Shf6+ (2 points) Qxf6 6.Sb6+ Ke5 7.d4# 

                                                                   

   

  

#7            (8 + 11)  

4 Mikola Rezvov, 3rd Prize Shakhmaty (Riga),1984 
 (Mirror) 

 

 

1.Rh6+ Kb7  2.f3!! *1 (2 points) h2! (1 point) 3.Rb6+ *2 Ka7 4.Bd4! (1 point) h1=Q 5.Rxb2+ 

Ka6 6.Ra2+ Kb5 7.Ra1 (1 point) 1-0 
*1 1...Ka5 2.Rh8 
*2 3.Kxh2 b1=Q 4.Rb6+ Ka8! 5.Rxb1 = 

+              (5 + 3) 

 

 

5 Wichard Von Alvensleben, 1st HM Europa Rochade 1990 

 

 

 

 

1.Ra2 Re2 2.Rxa4 Ra2 3.b3 Rxa4#  (2.5 points) 

 

1.Re2 Bd1 2.Rxe6 Bg4 3.d4 Bxe6#  (2.5 points) 

 

H#3      2 sol.     (3 + 12)  

6 Bertil Gedda (correction Paz Einat), 7th HM 2nd Tungsram Cup 1980 

 

 

1.Rc2 ! zz. (1 point) 

1...e6 2.Bxd5 + exd5 3.Bb8 d4 4.a7 d3 5.a8=R dxc2 6.Ra6 + (2 points) Bxa6#  

1...e5 2.Sd4 + exd4 3.Kb8 d3 4.Ka8 dxc2 5.Bxd5 + Bxd5 6.Qc7 + (2 points) Kxc7# 

S#6                    (10 + 4)  
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7 Gérard Doukhan & Claude Wiedenhoff, 2nd Pr. Jubilé A. Argüelles-80, Problemas 1982-83 
 

 

 

1.gxf5 ! (5 points) [2.Rd3#]  

1...Bxe3 2.Qxe3# 1...Sb3 2.e5# 1...Sxc6 + 2.Sxc6# 

 

1.Qb4 ? [2.Qb6#] but 1...Bxe3 !  1.c5 ? [2.Qc3#] but 1...Sc4 !  

1.e5 ? [2.Bb6#] but 1...Qd8 !       1.exf5 ? [2.Bb6#] but 1...Sd7 !     

1.g5 ? [2.Rd3#] but 1...f4 !  

 

 

 

#2                       (14+10)  

8 Josef Cumpe, 1st Prize Deutsche Arbeiter-Schachzeitung 1914 (mirrored) 

 

 

1.Qh8 ! [2.Qg7 (1 point) ~ 3.Qg3#]  

1...Kg5 2.Kf3 (1 point) ~ 3.h4#  

1...Kg4 2.Qh6 (1 point) ~ 3.h3#  

1...f6 2.Qh5 (1 point) ~ 3.Sg6#  

1...Bxd6 2.Qh4+ (1 point) Ke5 3.d4# 

#3                       (6+10)  

9 Mikhaïl P. Kuznetsov (v), 2nd Pr. Shakhmaty v SSSR 1971 

 

 

1.Rc1 ! [2.Sxe6 + Kd3 3.Sc5 + Kc4 4.Sxe3 + (2 points) Kd4 5.Sf5#  

1...Sg3 2.Sxe3 + Kd4 3.Sc2 + Kc4 4.Se4 + (1 point) Kd3 5.Sxf2#  

1...Bg4 2.Sxa6 + Kd3 3.Sc5 + Kc4 4.Sa3 + (1 point) Kd4 5.Sb5#   

1...Qg6 2.Sxd7 + Kd3 3.Sc5 + Kc4 4.Sb4 + (1 point) Kd4 5.Sc6# 4...Qc2 5.Sb3,Sxe6# 

 
                                                                   

   

  

#5            (9+14)  

10 David Gurgenidze, 1st HM Buletin Problemistic, 1993 

 

 

 

1.Nf6 Rc2+ 2.Kd4! (2 points) (2. Kb3? Rg2!) 2...Rd2+ 3.Ke5 Rd8 4.Kf5 (1 point) 

4...Ra8! (1 point) (4...Rb8 5.Rh1+ Kg7 6.Rh7+ Kf8 7.Rh8+) 5.Rh1+ (5. Kg6 Ra1) 5...Kg7 

6.Rh7+ Kf8 7.Ke6 (1 point) Re8+ (7... b1=Q 8.Rf7#) 8.Nxe8 b1=Q 9. Rh8# 

+               (3+4) 

 

 

11 Andreï Frolkin & Sergeï A. Komarov, 1st HM Phénix 1991 

 

 

 

1.Se1 Bh3 2.Kc7 Bxf4 + 3.Kc8 Bh2 4.Bd8 Bxe6# (2.5 points) 

 

1.Sh4 Bg1 2.Sc7 Bxb5 3.Bd5 Bf1 4.Bc6 Bxf2# (2.5 points) 

 

 

H#4       2 sol.      (3+14)  

12 William A. Whyatt, 3rd HM 136° T.T. British Chess Federation 1973-74 

 

 

1.Qf7 ! [2.Qxe6 + Sxe6,Sd7 3.Bxb7 + (2 points) Bxb7#]  

1...e1=Q 2.Sf3 ~ 3.Bxb7 + (1 point) Bxb7#  

1...e1=R 2.Se2 ~ 3.Bxb7 + (1 point) Bxb7#  

1...Qe3 2.Sf5 ~ 3.Bxb7 + (1 point) Bxb7# 

S#3                    (7+14)  

                          



Problems Difficulty (110  Solvers) 

ID Tag Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution)

6 S#6 1.20 22 8 25 55

9 #5 1.45 28 8 25 49

10 + 2.01 11 63 24 12

8 #3 2.24 34 23 37 16

12 S#3 2.64 23 47 19 21

11 H#4 2.70 56 7 12 35

2 #3 2.77 52 16 26 16

3 #7 3.09 66 5 20 19

4 + 3.29 61 20 20 9

5 H#3 3.45 71 10 4 25

7 #2 3.64 80 0 28 2

1 #2 4.55 100 0 10 0
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